
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

BINOMIAL THEOREM

Others

1. Find the 9th term in the expansion of


.

Watch Video Solution

( − )
12

x

a

3a

x2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Nr9cRO4oVARD


2. Find the 4th term from the end in the expansion

of 
.

Watch Video Solution

( − )
7

3

x2

x3

6

3. Using binomial theorem, indicate which is larger

Watch Video Solution

(1. 1)10000 or 1000?

4. Show that , where 
 is

divisible by 

24n+4 − 15n − 16 n ∈ N

225.

https://dl.doubtnut.com/l/_i68P0ijSS5lG
https://dl.doubtnut.com/l/_hTQ2qP1GKEoC
https://dl.doubtnut.com/l/_ItZAdvZmi3Bj


Watch Video Solution

5. Show that the middle term in the expansion


 
.

Watch Video Solution

(x − )
2n

is
1

x
( − 2)

n1. 3. 5(2n − 1)

n

6. Find the coefficients of 
 in the

expansion of 

Watch Video Solution

x32andx
−7

(x4 − )
15

.
1

x3

https://dl.doubtnut.com/l/_ItZAdvZmi3Bj
https://dl.doubtnut.com/l/_jeuw6874beXZ
https://dl.doubtnut.com/l/_AuOkHllsguz2


7. Find the middle term in the expansion


.

Watch Video Solution

( x2 − )
20

2

3

3

2x

8. Find the middle terms in the expansion


.

Watch Video Solution

(3x − )
7

x3

6

9. Find the coefficient of 
 in the expansion of x4

(1 + x + x2 + x3)
11

.

https://dl.doubtnut.com/l/_Vjy74HC102Me
https://dl.doubtnut.com/l/_fePG9POKecDp
https://dl.doubtnut.com/l/_6nqq0YikGXlV


Watch Video Solution

10. The term
 independent of x in expansion of


 is (1) 120
 (2) 210
 (3)

310 (4) 4

Watch Video Solution

( − )

10
x + 1

x − x + 1
2
3

1
3

x − 1

x − x
1
2

11. Prove that there is no term involving 
 in the

expansion of 
, where 

Watch Video Solution

x6

(2x2 − )
11

3

x
≠ 0.

https://dl.doubtnut.com/l/_6nqq0YikGXlV
https://dl.doubtnut.com/l/_MwvcbZJfBfrt
https://dl.doubtnut.com/l/_EmNFmVkL8X9i
https://dl.doubtnut.com/l/_u8X8wdBKjB62


12. Find the term independent of 
 in the expansion

of 
.

Watch Video Solution

x

(3x2 − )
101

2x3

13. Find the coefficient of 
 after simplifying and

collecting the like terms in the expansion of

Watch Video Solution

x50

(1 + x)1000 + x(1 + x)999 + x2(1 + x)998 + + x1000.

14. Find the coefficient of 
 in the expansion of xn

(1 + x)(1 + x)n.

https://dl.doubtnut.com/l/_u8X8wdBKjB62
https://dl.doubtnut.com/l/_VqiNgJrh5YcJ
https://dl.doubtnut.com/l/_1vVKHPSGbQDP


Watch Video Solution

15. If 
 be the coefficient of four

consecutive terms in the expansion of 

then prove that: 

Watch Video Solution

a1, a2, a3, a4

(1 + x)n,

+ = .
a1

a1 + a2

a3

a3 + a4

2a2
a2 + a3

16. Find the number of integral terms in the

expansion of .

Watch Video Solution

(5 + 7 )
10241

2
1
8

https://dl.doubtnut.com/l/_1vVKHPSGbQDP
https://dl.doubtnut.com/l/_qIMwoi0yxf1U
https://dl.doubtnut.com/l/_S3sGltzYkh8d
https://dl.doubtnut.com/l/_JL9XQnb0Gewp


17. Find the coefficients of 
 in 


and find

the relation between 
 so that coefficients

are equal.

Watch Video Solution

x7

(ax2 + )
11

and x−7in(ax − )
11

1

bx

1

bx2

a and b

18. Find the coefficient of 
 in the expansion of 

Watch Video Solution

x5

(1 + x)
21

+ (1 + x)
22

+ ......... + (1 + x)
30.

https://dl.doubtnut.com/l/_JL9XQnb0Gewp
https://dl.doubtnut.com/l/_gCUlx6tLwIeT


19. If the middle term in the binomial expansion of


 is equal to 
 find the value of 

Watch Video Solution

( + x sinx)
10

1

x
,

63

8

x.

20. Find the greatest value of the term independent

of 
 in the expansion of 
 ,

where .

Watch Video Solution

x (x sinα + )
10cosα

x

α ∈ R

https://dl.doubtnut.com/l/_gXqnmnkr41Vz
https://dl.doubtnut.com/l/_QHS8K4VTxzyj


21. If 
be the sum of odd terms and 
that of even

terms in the expansion of 
 prove that:
 (i)


 (ii) 


 (iii) 

Watch Video Solution

o E

(x + a)n

O2 − E2 = (x2 − a2)
n

4OE = (x + a)2n − (x − a)2n

2(O2 + E2) = (x + a)2n + (x − a)2n

22. Using binomial theorem, expand


and hence find the value of 

Watch Video Solution

{(x + y)5 + (x − y)5}.

{(√2 + 1)
5
+ (√2 − 1)

5
}.

https://dl.doubtnut.com/l/_prMoVuyGoBab
https://dl.doubtnut.com/l/_cTEnoH23E2EY


23. Using binomial theorem, prove that 

is divisible by 
, where 

Watch Video Solution

23n − 7n − 1

49 n ∈ N.

24. Using binomial theorem, prove that

Watch Video Solution

(101)50 > 10050 + 9950.

25. Expand 
by binomial theorem.

Watch Video Solution

(x2 + 2a)
5

https://dl.doubtnut.com/l/_qTZOg5UfRADB
https://dl.doubtnut.com/l/_B0qPaRrlpQw1
https://dl.doubtnut.com/l/_HZyjjF5qDrtm


26. Prove that 

Watch Video Solution

n

∑
r=0

^ nCr3
r = 4n

27. By using binomial theorem, expand:


`

Watch Video Solution

(1 + x + x2)
3

28. If the third term in the expansion of


is 
then find 

Watch Video Solution

( + x(log)10x)
5

1

x
1000, x.

https://dl.doubtnut.com/l/_HZyjjF5qDrtm
https://dl.doubtnut.com/l/_De2Zrm6Hmg2I
https://dl.doubtnut.com/l/_GeZHmEvzNXkM
https://dl.doubtnut.com/l/_D2MKzMVEAA2Q


Watch Video Solution

29. In the binomial expansion of 
 ,

coefficients of the fifth, sixth and seventh terms are

in A.P. find all the values of 
 for which this can

happen.

Watch Video Solution

(1 + x)
n

n

30. In the binomial expansion of 
 ,

coefficients of the fourth and thirteenth terms are

equal to each
other. Find 
.

Watch Video Solution

(a + b)
n

n

https://dl.doubtnut.com/l/_D2MKzMVEAA2Q
https://dl.doubtnut.com/l/_PGWlFMyWK2t5
https://dl.doubtnut.com/l/_HwO2H2IwNeCb


31. The value of term independent of 
 in


is
.

Watch Video Solution

x

(√x + )
10

a

x2

32. If 
 is a positive integer, prove that


is divisible by 

Watch Video Solution

n

33n − 26n − 1 676.

33. Using binomial theorem, prove that


is divisible by 
, where 32n+2 − 8n − 9 64 n ∈ N.

https://dl.doubtnut.com/l/_HwO2H2IwNeCb
https://dl.doubtnut.com/l/_gphxmDTwIjmm
https://dl.doubtnut.com/l/_T8ReqrrfdomU
https://dl.doubtnut.com/l/_WulneRkitnyo


Watch Video Solution

34. For what value of x is the ninth term in the

expansion of 

is equal to 

Watch Video Solution

(3log3√25x− 1+7 + 3− log3 (5
x− 1+1 ))

101
8

180

35. If the fourth term in the expansion of

200 and x >1,`

then find x

Watch Video Solution

⎧
⎨⎩√ ' +

6

isequal →
1

x^log(x+1)

1

x12

https://dl.doubtnut.com/l/_WulneRkitnyo
https://dl.doubtnut.com/l/_SUcnUAmf34tk
https://dl.doubtnut.com/l/_yE6k0XERY2yr


36. If the coefficient of 2nd, 3rd and 4th
terms in the

expansion of 
 are in A.P. , show that 

Watch Video Solution

(1 + x)
2n

2n2 − 9n + 7 = 0.

37. If the coefficient of  and 

terms in the expansion of 
are equal, find 

.

Watch Video Solution

(2r + 4)th (r − 2)th

(1 + x)
18

r

https://dl.doubtnut.com/l/_yE6k0XERY2yr
https://dl.doubtnut.com/l/_zw8Hf1z5mFom
https://dl.doubtnut.com/l/_2NFs9EjsfQaG


38. Find the value of 
for hich the coefficients of the

middle terms in the expansions of


are equal, find 

Watch Video Solution

α

(1 + αx)4and(1 + αx)6 α.

39. If the term free form x in the expansion of

 is 405, find the value of m.

Watch Video Solution

(√x − )
10

m

x2

40. Find the 5th term
in the expansion of (1 + x2)
12

https://dl.doubtnut.com/l/_PqiXdd1WFaLZ
https://dl.doubtnut.com/l/_mylzlfAg3S4C
https://dl.doubtnut.com/l/_Uy3fdXLgoktL


Watch Video Solution

41. Find the  term
in the expansion of 

Watch Video Solution

2nd (1 + x)
12

42. Find the total number of the terms in expansion

of 

Watch Video Solution

(1 − 3x + 3x2 − x3)
8
.

43. Find the 111th term
 in the expansion of

(1 + 3x)
111

.

https://dl.doubtnut.com/l/_Uy3fdXLgoktL
https://dl.doubtnut.com/l/_Ef2lBFaSCbQe
https://dl.doubtnut.com/l/_4FeJT8uECyYZ
https://dl.doubtnut.com/l/_YP9VcotD4dG6


Watch Video Solution

44. Find the number of terms in the expansion of

Watch Video Solution

(a + b)8.

45. Write last two digits of the number 

Watch Video Solution

3400.

https://dl.doubtnut.com/l/_YP9VcotD4dG6
https://dl.doubtnut.com/l/_a771CQ1xfYF7
https://dl.doubtnut.com/l/_Ke39w6susPB7


46. Find the total number of terms in the expansion

of 

Watch Video Solution

(x + x )
10

.
3
2

1
2

47. If 
 is a positive integer, find the coefficient of


in the expansion of 

Watch Video Solution

n

x−1 (1 + x)n(1 + )
n

.
1

x

48. Find the sixth term in the expansion


, if the binomial coefficient of the third(y + x )
n1

2
1
3

https://dl.doubtnut.com/l/_pxlJnQ6Buwur
https://dl.doubtnut.com/l/_dOdMlXvUSjgU
https://dl.doubtnut.com/l/_7nz2nE662WIf


term of the end is 

Watch Video Solution

45.

49. Which term in the expansion of

contains x and y to

one and the same power ?

Watch Video Solution

⎧⎪
⎨
⎪⎩
( ) +

⎛

⎝

⎞

⎠

⎫⎪
⎬
⎪⎭

21

x

√y

1
3

y

(x)
1
3

1
2

50. Find the number of terms in the expansions of

the following: 

W h Vid S l i

(2x − 3y)
9

https://dl.doubtnut.com/l/_7nz2nE662WIf
https://dl.doubtnut.com/l/_l7ItIbqsI65P
https://dl.doubtnut.com/l/_voyAxo19728j


Watch Video Solution

51. Find the number of terms in the expansions of

the following: 

Watch Video Solution

(1 + 5√2x)
9
+ (1 − 5√2x)

9

52. Find the number of terms in the expansions of

the following: 

Watch Video Solution

(√x + √y)
10

+ (√x − √y)
10

https://dl.doubtnut.com/l/_voyAxo19728j
https://dl.doubtnut.com/l/_JxeP5uHJ4p76
https://dl.doubtnut.com/l/_4Q9yAikd9qzx


53. Find the number of terms in the expansions of

the following: 

Watch Video Solution

[(3x + y)8 − (3x − y)8]

54. Find the number of terms in the expansions of

the following: 

Watch Video Solution

 (2x + 3y − 4z)n

55. Find the number of terms in the expansions of

the following:

W t h Vid S l ti

 (1 + 2x + x2)
20

https://dl.doubtnut.com/l/_At7mB2IA3Q6i
https://dl.doubtnut.com/l/_9OqRD6UxmBhL
https://dl.doubtnut.com/l/_lZWpKE5Uke2A


Watch Video Solution

56. Expand 
by binomial theorem.

Watch Video Solution

(2x − 3y)4

57. Using binomial theorem expand

Watch Video Solution

(1 + − )
4

,  x ≠ 0.
x

2

2

x

58. Find the expansion of 
using

binomial theorem.

(3x2 − 2ax + 3a2)
3

https://dl.doubtnut.com/l/_lZWpKE5Uke2A
https://dl.doubtnut.com/l/_No9YlF4Fg34z
https://dl.doubtnut.com/l/_gc3e2iMEgrPH
https://dl.doubtnut.com/l/_05jaipBd3kGd


Watch Video Solution

59. Using binomial theorem, expand 

Watch Video Solution

(x + )
11

.
1

y

60. Find an approximation of 
using the first

three terms of its expansion.

Watch Video Solution

(0. 99)
5

61. Using binomial theorem compute : (99)5

https://dl.doubtnut.com/l/_05jaipBd3kGd
https://dl.doubtnut.com/l/_4wcZQlqhZ0dt
https://dl.doubtnut.com/l/_QGxANbPUz76D
https://dl.doubtnut.com/l/_lfKBBtRuieKO


Watch Video Solution

62. Using binomial theorem compute : 

Watch Video Solution

(102)
6

63. Using binomial theorem compute : 

Watch Video Solution

(10. 1)
5

64. Write down the binomial expansion of

 , when x=8.
 Deduce that 

is divisible by 64 where, 
is a positive integer.

(1 + x)
n+1

9n+1 − 8n − 9

n

https://dl.doubtnut.com/l/_lfKBBtRuieKO
https://dl.doubtnut.com/l/_lk3o6BWpVVXm
https://dl.doubtnut.com/l/_xdlOwsgsBJJt
https://dl.doubtnut.com/l/_mOAMxgSLvtOT


Watch Video Solution

65. Using binomial theorem, prove that 

always leaves he remainder 1 when divided by 25.

Watch Video Solution

6n − 5n

66. Which is larger 

Watch Video Solution

(1. 01)100000  or 10, 000?

https://dl.doubtnut.com/l/_mOAMxgSLvtOT
https://dl.doubtnut.com/l/_kK6oleO46GTL
https://dl.doubtnut.com/l/_M6aOcO3KVHAz


67. If 
 are distinct integers, prove that 


is divisible by 
where .

Watch Video Solution

a and b

an − bn (a − b) n ∈ N

68. Using binomial theorem, write down the

expansion of 

Watch Video Solution

(2x + 3y)5

69. Using binomial theorem, write down the

expansions of the following: 

W t h Vid S l ti

(1 − 3x)7

https://dl.doubtnut.com/l/_pcgD8qEkrbtF
https://dl.doubtnut.com/l/_mlGa6PNSVqsq
https://dl.doubtnut.com/l/_oZGJuCJs71c3


Watch Video Solution

70. Using binomial theorem, write down the

expansions
of the following: 

Watch Video Solution

(x3 − a3)6

71. Using binomial theorem, write down the

expansions
of the following: 

Watch Video Solution

(1 − 2x + 3x2)
3

https://dl.doubtnut.com/l/_oZGJuCJs71c3
https://dl.doubtnut.com/l/_YmVaFWrXQpVs
https://dl.doubtnut.com/l/_OrWc6ThQtpp6


72. Using binomial theorem, write down the

expansions of the following: 

Watch Video Solution

(2x − 3y)4

73. Using binomial theorem, write down the

expansions of the following: 

Watch Video Solution

 (ax − )
5

b

x

74. Using binomial theorem, write down the

expansions of the following:  (1 + 2x − 3x2)
5

https://dl.doubtnut.com/l/_P053Qs1SBGUl
https://dl.doubtnut.com/l/_cSvS13bli6Da
https://dl.doubtnut.com/l/_N9lUaePYdPrP


Watch Video Solution

75. Using binomial theorem, write down the

expansions of the following: 

Watch Video Solution

 (x − )
61

x

76. Using binomial theorem, write down the

expansions of the following: 

Watch Video Solution

 (√ −√ )
6

x

a

a

x

https://dl.doubtnut.com/l/_N9lUaePYdPrP
https://dl.doubtnut.com/l/_UZFvn9HCHl4W
https://dl.doubtnut.com/l/_tP6rKjEKFSD5


77. Using binomial theorem, write down the

expansions of the following:

Watch Video Solution

 (x + 1 − )
3

1

x

78. Evaluate the following:

Watch Video Solution

(√x + 1 + √x − 1)
6
+ (√x + 1 − √x − 1)

6

79. Evaluate the following: 

Watch Video Solution

 (3 + √2)
5
− (3 − √2)

5

https://dl.doubtnut.com/l/_RTgOk59lVuBP
https://dl.doubtnut.com/l/_T5AmAhE1C5nF
https://dl.doubtnut.com/l/_0G7AAtPqlylL


80. Evaluate the following:

Watch Video Solution

 (1 + 2√x)
5
+ (1 − 2√x)

5

81. Evaluate the following: 

Watch Video Solution

 (√3 + 1)
5
− (√3 − 1)

5

82. Evaluate the following:

Watch Video Solution

 (√3 + √2)
6
− (√3 − √2)

6

https://dl.doubtnut.com/l/_0G7AAtPqlylL
https://dl.doubtnut.com/l/_0RiIw6EU7pvV
https://dl.doubtnut.com/l/_v26lc9bXaqPr
https://dl.doubtnut.com/l/_K60zouHyCnDY


83. Evaluate the following:

Watch Video Solution

 {a2 + √a2 − 1}
4

+ {a2 − √a2 − 1}
4

84. Evaluate the following:

Watch Video Solution

 (x + √x2 − 1)
6
+ (x − √x2 − 1)

6

85. Evaluate the following:  (√2 + 1)
6
+ (√2 − 1)

6

https://dl.doubtnut.com/l/_K60zouHyCnDY
https://dl.doubtnut.com/l/_R3R3mRvp3RFD
https://dl.doubtnut.com/l/_4JoBWNJrlB6Y
https://dl.doubtnut.com/l/_RF6nrqS1hGfr


Watch Video Solution

86. Evaluate the following: 

Watch Video Solution

(2 + √3)
7
+ (2 − √3)

7

87. Evaluate the following: 

Watch Video Solution

 (0. 99)5 + (1. 01)5

88. Find 
 Hence evaluate 

Watch Video Solution

(a + b)4 − (a − b)4.

(√3 + √2)
4
− (√3 − √2)

4

https://dl.doubtnut.com/l/_RF6nrqS1hGfr
https://dl.doubtnut.com/l/_hx4fgFUSN4Ms
https://dl.doubtnut.com/l/_Gx6ILI9e0439
https://dl.doubtnut.com/l/_eRcKzq970jx9


89. Find . Hence evaluate 

.

Watch Video Solution

(x + 1)6 + (x − 1)6

(√2 + 1)
6
+ (√2 − 1)

6

90. Using binomial theorem evaluate each of the

following: 

Watch Video Solution

(96)3

https://dl.doubtnut.com/l/_eRcKzq970jx9
https://dl.doubtnut.com/l/_BI54CikalOkT
https://dl.doubtnut.com/l/_voY4JFpdIhbd


91. Using binomial theorem evaluate each of the

following: 

Watch Video Solution

(102)5

92. Using binomial theorem evaluate each of the

following: 

Watch Video Solution

(101)4

93. Using binomial theorem evaluate each of the

following: 

W t h Vid S l ti

(98)5

https://dl.doubtnut.com/l/_JQBuHq6ERuyC
https://dl.doubtnut.com/l/_eILdLqWFXafz
https://dl.doubtnut.com/l/_Agy888pAR2zl


Watch Video Solution

94. Using binomial theorem indicate which is larger

Watch Video Solution

(1. 1)10000 or  1000?

95. Write the general term in the expansion of

Watch Video Solution

(x2 − y)
6
.

https://dl.doubtnut.com/l/_Agy888pAR2zl
https://dl.doubtnut.com/l/_mkhh5acHTRRc
https://dl.doubtnut.com/l/_xzYGDICiZ5U6


96. Find the 10th term in the binomial expansion of

Watch Video Solution

(2x2 + )
12

.
1

x

97. Find the 6th term in the expansion of

.

Watch Video Solution

( − )
9

4x
5

5

2x

98. Find 13th term in the expansion of

(9x − )

18

,  x ≠ 0.
1

3√x

https://dl.doubtnut.com/l/_9kLucNWvzPyI
https://dl.doubtnut.com/l/_v6G1sXE0DcrS
https://dl.doubtnut.com/l/_ikb6h1HJHGqP


Watch Video Solution

99. Find the 11th term from the end in the expansion

of 

Watch Video Solution

(2x − )
25

.
1

x2

100. Find n, if the ratio of the fifth term from the

beginning to the fifth term from the end in the

expansion of 
is 
.

Watch Video Solution

(24 + )
n

1

34
√6: 1

https://dl.doubtnut.com/l/_ikb6h1HJHGqP
https://dl.doubtnut.com/l/_4ylIMNYsqDGu
https://dl.doubtnut.com/l/_z81fPrRzHjf8
https://dl.doubtnut.com/l/_l4RCbBebv0Qp


101. Find a if 17th and 18th terms in the expansion of


are equal.

Watch Video Solution

(2 + a)
50

102. Show that the middle term in the expansion of

 is , where 

.

Watch Video Solution

(1 + x)
2n

. 2n. xn
1.3.5…(2n − 1)

n !
n ∈ N

103. Prove that the coefficient of the middle term in

the expansion of 
 is equal to the sum of(1 + x)
2n

https://dl.doubtnut.com/l/_l4RCbBebv0Qp
https://dl.doubtnut.com/l/_NrO8NCtcVEpJ
https://dl.doubtnut.com/l/_z4uYgCKfIGmQ


the coefficients of middle terms in the
expansion of

Watch Video Solution

(1 + x)2n−1

104. Find the coefficient of 
 in the binomial

expansion of 

Watch Video Solution

x10

(2x2 − )
11

,  when x ≠ 0.
3

x

105. Find the coefficient of 
 in the expansion of 

Watch Video Solution

x6y3

(x + 2y)
9.

https://dl.doubtnut.com/l/_z4uYgCKfIGmQ
https://dl.doubtnut.com/l/_w6qDz1Sg59OF
https://dl.doubtnut.com/l/_ahaJrG1hCf94


106. Find the coefficient of 
 in the expansion of 

Watch Video Solution

x40

(1 + 2x + x2)
27

.

107. Find the coefficient of 
 in the expansioin of

the product 

Watch Video Solution

x5

(1 + 2x)
6
(1 − x)

7.

https://dl.doubtnut.com/l/_ahaJrG1hCf94
https://dl.doubtnut.com/l/_7gwGy5llS7Ry
https://dl.doubtnut.com/l/_LAKo45O7oAZv


108. Find the term independent of 
 in the

expansion of: 
.

Watch Video Solution

x

(x − )
12

1

x

109. Find the term independent of 
 in the

expansion of: 

Watch Video Solution

x

 (2x − )
10

.
1

x

110. In the binomial expansion of 
, prove

that the coefficient of 
are equal.

(1 + a)m+n

amand an

https://dl.doubtnut.com/l/_JxigHnxbARvC
https://dl.doubtnut.com/l/_3kplu38uIhRG
https://dl.doubtnut.com/l/_PEGetpD7A35I


Watch Video Solution

111. Prove that the coefficients of 
 in 
 is

twice the coefficient of 
in 

Watch Video Solution

xn (1 + x)2n

xn (1 + x)2n−1.

112. Find a positive value of 
 for which the

coefficient of 
in the expansion f 
is 6.

Watch Video Solution

m

x2 (1 + x)m

https://dl.doubtnut.com/l/_PEGetpD7A35I
https://dl.doubtnut.com/l/_1CFgjytHTvqF
https://dl.doubtnut.com/l/_ZxXO4nYDJB5v


113. If the coefficients of 
 and 

terms in the expansion of 
are equal, find .

Watch Video Solution

(r − 5)th (2r − 1)th

(1 + x)34 r

114. The coefficient of three consecutive terms in the

expansion of . Are in the ratio  find

the value of k.

Watch Video Solution

(1 + x)k 1: 7: 42

115. If the coefficients of 
 in the

binomial expansion of 
 are in A.P., prove

ar−1,  ar and  ar+1

(1 + a)n

https://dl.doubtnut.com/l/_FS9Ws65MXfjb
https://dl.doubtnut.com/l/_qW3lG8kx7Jvo
https://dl.doubtnut.com/l/_EGPlZVRkVbnf


that 

Watch Video Solution

n2 − n(4r + 1) + 4r2 − 2 = 0.

116. The coefficients of 

terms in the expansion of 
 are in the ratio

1:3:5. Find 

Watch Video Solution

(r − 1)th,  rth and (r + 1)th

(x + 1)n

n and r.

117. If the fourth term in the expansion of


then find the values of .

Watch Video Solution

(ax + )
n

 is  ,
1

x

5

2
a and n

https://dl.doubtnut.com/l/_EGPlZVRkVbnf
https://dl.doubtnut.com/l/_6ET6XTUDwfPd
https://dl.doubtnut.com/l/_bzpvH90gWHtk


118. The sum of the coefficients of first three term in

the expansion of 
 m being a

natural number, is 559. Find the term of the

expansion containing .

Watch Video Solution

(x − )
m

, x ≠ 0.
3

x2

x3

119. If 
 occurs in the expansion of 
 ,

prove that its coefficient is


.

Watch Video Solution

xp (x2 + 1/x)
2n

(2n) !

[ (4n − p)] ![ (2n + p)] !1
3

1
3

https://dl.doubtnut.com/l/_bzpvH90gWHtk
https://dl.doubtnut.com/l/_rR5dDqHgevhX
https://dl.doubtnut.com/l/_WGOIpQaiRtl8


120. The coefficient of  in 

is

Watch Video Solution

xm

(1 + x)m + (1 + m)m+1 + ... + (1 + x)n,m ≤ n

121. If in the expansion of  denotes

the coefficient of  then prove that 

Watch Video Solution

(1 − x)2n−1
ar

xr

ar−1 + a2n−r = 0

https://dl.doubtnut.com/l/_WGOIpQaiRtl8
https://dl.doubtnut.com/l/_cA6m3CPCvTXc
https://dl.doubtnut.com/l/_HDOJpTFQnelD


122. If 3rd, 4th, 5th terms in the expansion of

 be 84, 280 and 560, Find x, a and n.

Watch Video Solution

(x + a)n

123. Find the number of terms which are free from

radical signs in the
expansion of 

Watch Video Solution

(y1 / 5 + x1 / 10)
55

.

124. Find the 11th term form the beginning and the

11th
 term form the end of the expansion of

https://dl.doubtnut.com/l/_cbyG8FzVwz1D
https://dl.doubtnut.com/l/_dHDP1IPjoQxw
https://dl.doubtnut.com/l/_BBmGLC0d7wgk


Watch Video Solution

(2x − )
25

.
1

x2

125. Find the 7th term in the expansion of

Watch Video Solution

(3x2 − )
10

.
1

x3

126. Find the 5th term from the end in the expansion

of 

Watch Video Solution

(3x − )
10

.
1

x2

https://dl.doubtnut.com/l/_BBmGLC0d7wgk
https://dl.doubtnut.com/l/_0it3IVbo5OTo
https://dl.doubtnut.com/l/_vdQgHi21AjGm


127. Find the 7th term in the expansion of

Watch Video Solution

( + )
8

.
4x

5

5

2x

128. Find the 4th term from the beginning and 

term from the end in the expansion of 

Watch Video Solution

4th

(x + )
92

x

129. Find the 4th term from the end in the expansion

of ( − )
9

.
4x

5

5

2x

https://dl.doubtnut.com/l/_F7Kfq7yGafcE
https://dl.doubtnut.com/l/_9sMHmMwFnssx
https://dl.doubtnut.com/l/_id6sd0nYr6aA


Watch Video Solution

130. Find the 7th term from the end in the expansion

of 

Watch Video Solution

(2x2 − )
8

.
3

2x

131. Find the coefficient of  in the expansion of 

.

Watch Video Solution

x10

(2x2 − )
20

1

x

https://dl.doubtnut.com/l/_id6sd0nYr6aA
https://dl.doubtnut.com/l/_26DgvyLfVhaW
https://dl.doubtnut.com/l/_9Uau9fkY5l7f


132. Find the coefficient of 
 in the expansion of 

.

Watch Video Solution

x7

(x − )
401

x2

133. Find the coefficient of : 
in the expansion of

Watch Video Solution

x−15

(3x2 − )
10

.
a

3x3

134. Find the coefficient of  in the expansion of

.

x9

(x2 − )
91

3x

https://dl.doubtnut.com/l/_DTABj04ZkOPG
https://dl.doubtnut.com/l/_TTytyzxxw7LR
https://dl.doubtnut.com/l/_FBex7bXFkEEp


Watch Video Solution

135. Find the coefficient of 
 in the expansion of 

Watch Video Solution

 xm

(x + )
n

.
1

x

136. The co-efficient of  in the expansion of

 is :

Watch Video Solution

x

(1 − 2x3 + 3x5)(1 + )
81

x

https://dl.doubtnut.com/l/_FBex7bXFkEEp
https://dl.doubtnut.com/l/_TdIkGYeZ81qK
https://dl.doubtnut.com/l/_iARjxVHoCQQs


137. Find the coefficient of 

Watch Video Solution

a5b7 ∈ (a − 2b)12

138. Find the coefficient of  in the expansion of

.

Watch Video Solution

x

(1 − 3x + 7x2)(1 − x)16

139. Does the expansion of 
 contain

any term involving 

Watch Video Solution

(2x2 − )
20

1

x

x9 ?

https://dl.doubtnut.com/l/_fdD2K0xRTVFO
https://dl.doubtnut.com/l/_RoalYH6p9LxT
https://dl.doubtnut.com/l/_XNgrbYlpKpfl


140. Show that the expansion of 
 does

not contain any term involving 

Watch Video Solution

(x2 + )
121

x

x−1.

141. Find the middle term in the expansion of

Watch Video Solution

( − )
20

2x

3

3

2x

https://dl.doubtnut.com/l/_XNgrbYlpKpfl
https://dl.doubtnut.com/l/_5koPaFOiAp52
https://dl.doubtnut.com/l/_wnx53WB4revg


142. Find the middle term in the expansion of :

Watch Video Solution

(x2 − )
10

2

x

143. Find the middle term in the expansion of :

Watch Video Solution

( +  bx)
12a

x

144. Find the middle term in the expansion of :

( − )
10x

a

a

x

https://dl.doubtnut.com/l/_FpOP2kFn1fCb
https://dl.doubtnut.com/l/_aQinIKrLWXhR
https://dl.doubtnut.com/l/_buSrNgqfGkxS


Watch Video Solution

145. Find the middle term in the expansionansion of

.

Watch Video Solution

(3x − )
9

x3

6

146. Find the middle term in the expansion of :

Watch Video Solution

 (3x − )
152

x2

https://dl.doubtnut.com/l/_buSrNgqfGkxS
https://dl.doubtnut.com/l/_SYiTwa0gH0er
https://dl.doubtnut.com/l/_9aY1DY3EbJ44


147. Find the middle term in the expansion of

Watch Video Solution

(2x2 − )
71

x

148. Find the middle term in the expansion of :

Watch Video Solution

(x4 − )
11

1

x3

149. Find the middle term in the expansion of :

 (x − )
101

x

https://dl.doubtnut.com/l/_7DHmFTqiim4r
https://dl.doubtnut.com/l/_YcTXNw3CHDR4
https://dl.doubtnut.com/l/_4Aj8fdPDZzv6


Watch Video Solution

150. Find the middle term in the expansion of :

Watch Video Solution

(1 + 3x + 3x2 + x3)
2n

151. Find the middle term in the expansion of :

Watch Video Solution

(1 − 2x + x2)
n

https://dl.doubtnut.com/l/_4Aj8fdPDZzv6
https://dl.doubtnut.com/l/_xOaBFHrAdYWM
https://dl.doubtnut.com/l/_RsKNc59duoiR


152. Find the middle term in the expansion of :

Watch Video Solution

(2x − )
9

x2

4

153. The middle term of  is

Watch Video Solution

(x − )
2n+11

x

154. Find the middle terms in the expansion


.

Watch Video Solution

(3x − )
7

x3

6

https://dl.doubtnut.com/l/_UdqSzzXT2Vbp
https://dl.doubtnut.com/l/_uBsm0SR0JkzY
https://dl.doubtnut.com/l/_UVkbCxRoP1nU


155. Find the middle term in the expansion of :

Watch Video Solution

( + )
9

p

x

x

p

156. Find the middle term in the expansion of :

Watch Video Solution

 ( + 9y)
10x

3

https://dl.doubtnut.com/l/_UVkbCxRoP1nU
https://dl.doubtnut.com/l/_C8nRP5PtKSnD
https://dl.doubtnut.com/l/_Oh7D9CkLURaV


157. Find the middle term in the expansion of :

Watch Video Solution

(2ax − )
12

b

x2

158. Find the middle term in the expansion of :

Watch Video Solution

 ( − )
10x

a

a

x

159. Term independent of x in the expansion of

.(3x2 − )
91

3x

https://dl.doubtnut.com/l/_ruoH79ocoWA6
https://dl.doubtnut.com/l/_ZXnaAJS8NsxT
https://dl.doubtnut.com/l/_mhEzjW6RNgYL


Watch Video Solution

160. Find the term independent of x in the expansion

of  .

Watch Video Solution

(2x2 − )
253

x3

161. Find the term independent of x in the expansion

of 

Watch Video Solution

(√ + ( ))

10
x

3

√3

2x2

https://dl.doubtnut.com/l/_mhEzjW6RNgYL
https://dl.doubtnut.com/l/_41amCAfdrfNi
https://dl.doubtnut.com/l/_1yEJJ2RjH8Io


162. Find the term independent o f x in the

expansion of the following expressions:

Watch Video Solution

(1 + x + 2x3)( x2 − )
9

3
2

1

3x

163. Find the term independent of  in the

expansion of the following expression:

Watch Video Solution

x

( 3√x + )

18

,  x > 2
1

2 3√x

https://dl.doubtnut.com/l/_AqQdt8zqhvzw
https://dl.doubtnut.com/l/_1NZF36VWDTVm


164. Find the term independent of 
 in the

expansion off the following expression:

Watch Video Solution

x

 (2x + )
9

1

3x2

165. Find the term independent of 
 in the

expansion off the following expression:

Watch Video Solution

x

(3x − )
152

x2

https://dl.doubtnut.com/l/_2QeztBV3Z4VP
https://dl.doubtnut.com/l/_PMxpvIKKqp9C


166. Find the term independent of 
 in the

expansion off the following expression:

Watch Video Solution

x

(x − )
3n

1

x2

167. Find the term independent of 
in the expansion

of 

Watch Video Solution

x

(1 + x + 2x3)[(3x2 /2) − (1/3x)]
9

https://dl.doubtnut.com/l/_lF7xTRqtOoHN
https://dl.doubtnut.com/l/_T2hU3F9lo4CO


168. Find the term independent of 
 in the

expansion off the following expression:

Watch Video Solution

x

( x2 − )
6

3
2

1

3x

169. If the coefficients of  term and 

 term in the expansion of  are

equal,find .

Watch Video Solution

(2r + 1)th

(r + 2)th (1 + x)
48

r

https://dl.doubtnut.com/l/_9SpftQ4BIszk
https://dl.doubtnut.com/l/_s1r5pudomUJm


170. how that the coefficient of (r+1) th in the

expansion of  is equal to the sum of the

coefficients of the r th and (r+1) th term in the

expansion of 

Watch Video Solution

(1 + x)n+1

(1 + x)n

171. Prove that the term independent of 
 in the

expansion of .

Watch Video Solution

x

(x + )
2n

 is  . 2n
1

x

1. 3. 5...(2n − 1)

n !

https://dl.doubtnut.com/l/_CEfz9E34PRre
https://dl.doubtnut.com/l/_CiKWxfJvo2Gt


172. If the coefficients of 5th, 6th , and 7th terms in

the expansion of 
are in A.P., then 
a. 7

only b. 14
only c. 7 or 14 d. none of these

Watch Video Solution

(1 + x)n n =

173. If the coefficients of 2nd, 3rd and 4th
 terms in

the expansion of 
 are in A.P. Then find the

value of .

Watch Video Solution

(1 + x)2n

n

https://dl.doubtnut.com/l/_6fHC2kX7CqOx
https://dl.doubtnut.com/l/_FkNfN5cZp7CW


174. If in the expansion of , the coefficients

of pth and qth terms are equal, prove that

, where .

Watch Video Solution

(1 + x)n

p + q = n + 2 p ≠ q

175. Find a if the
 coefficients of 
 and 
 in the

expansion of 
are equal.

Watch Video Solution

x2 x3

(3 + ax)9

176. Find the coefficient of 
 in the product 


using binomial theorem.

a4

(1 + 2a)4(2 − a)5

https://dl.doubtnut.com/l/_yUP7W4HknE35
https://dl.doubtnut.com/l/_2Zf6j5oxzDy0
https://dl.doubtnut.com/l/_bJWOohxFeuzK


Watch Video Solution

177. In the expansion of 
 the binomial

coefficients of three consecutive terms are

respectively 220, 495 and 792 find the value of .

Watch Video Solution

(1 + x)n

n

178. If in the expansion of 
the coefficient of

three consecutive terms are 56,70 and 56, then find


and the position of the terms of these coefficients.

Watch Video Solution

(1 + x)n

n

https://dl.doubtnut.com/l/_bJWOohxFeuzK
https://dl.doubtnut.com/l/_pTSj0WePD7rq
https://dl.doubtnut.com/l/_Uwnm9HfBMbm2


179. If in any binomial expansion a, b, c and d be the

6th, 7th, 8th and 9th terms respectively, prove that

Watch Video Solution

=
b2 − ac

c2 − bd

4a
3c

180. If the coefficients of three consecutive terms in

the expansion of  be 76, 95 and 76 find .

Watch Video Solution

(1 + x)
n

n

https://dl.doubtnut.com/l/_EGrJNEIZF2ll
https://dl.doubtnut.com/l/_9yoV4OMikYAi


181. If the 6th, 7th, 8th terms in the expansion of

 be 112, 7 and 1/4 find x, y and n.

Watch Video Solution

(x + y)n

182. If the 2nd, 3rd and 4th terms in the
expansion of


 are 240, 720 and 1080 respectively, find 

Watch Video Solution

(x + a)n

x,  a,  n.

183. Find a, b and n in
 the expansion of 
 if

the first three
 terms of the expansion are 729, 7290

(a + b)n

https://dl.doubtnut.com/l/_4bl8MsWFmJND
https://dl.doubtnut.com/l/_gS3M1jVHDMNg
https://dl.doubtnut.com/l/_jXVYcY02Ulcn


and 30375, respectively.

Watch Video Solution

184. If 
 is a real number and if the middle term in

the expansion of 
is 1120, find 

Watch Video Solution

p

( + 2)
8p

2
p

185. Write the number of terms in the expansion of

Watch Video Solution

(2 + √3x)
10

+ (2 − √3x)
10

.

https://dl.doubtnut.com/l/_jXVYcY02Ulcn
https://dl.doubtnut.com/l/_dE9njo4bBsop
https://dl.doubtnut.com/l/_AEBbbEyvMXwx
https://dl.doubtnut.com/l/_eycipYduMJZ5


186. Write the middle term in the expansion of

Watch Video Solution

( + )
10

.
2x2

3

3

2x2

187. Which term is independent of 
 in the

expansion of 

Watch Video Solution

x

(x − )
9

?
1

3x2

188. If 
denote respectively the coefficients of 


 in the expansion of 
 , then

a and b

xmand xn (1 + x)m+n

https://dl.doubtnut.com/l/_eycipYduMJZ5
https://dl.doubtnut.com/l/_A0KbXeB4kCs7
https://dl.doubtnut.com/l/_Bx7wG9P68O0r


write the relation between .

Watch Video Solution

 a and b

189. Write the middle term in the expansion of

Watch Video Solution

(x + )
10

.
1

x

190. If 
denote the sum of the coefficients in

the expansions of 

respectively, then write the relation between

a and b

(1 − 3x + 10x2)
n
and (1 + x2)

n

a and b.

https://dl.doubtnut.com/l/_Bx7wG9P68O0r
https://dl.doubtnut.com/l/_NJJrPXd4SBms
https://dl.doubtnut.com/l/_2DmmgZz78H7p


Watch Video Solution

191. Write the coefficient of the middle term in the

expansion of .

Watch Video Solution

(1 + x)
2n

192. Find the sum of the coefficient
 of two middle

terms in the binomial expansion of 

Watch Video Solution

(1 + x)
2n−1

https://dl.doubtnut.com/l/_2DmmgZz78H7p
https://dl.doubtnut.com/l/_T4VJt9rjZeDU
https://dl.doubtnut.com/l/_lhMpzAeF4kdM


193. If 
 are the coefficients of 
 in the

expansions of  and 

respectively, find .

Watch Video Solution

a and b xn

(1 + x)2n (1 + x)2n−1

a

b

194. The total number of terms in the expansion of

 is:

Watch Video Solution

(x + a)100 + (x − a)100

195. If

(1 − x + x2)
n
= a0 + a1x + a2x

2 + ......... + a2nx
2n,

https://dl.doubtnut.com/l/_ba9cFfZcKLBH
https://dl.doubtnut.com/l/_sRz9p5D6VzW5
https://dl.doubtnut.com/l/_mkuaZts45waJ


find the value of 

Watch Video Solution

a0 + a2 + a4 + ....... . + a2n.

196. If the rth term in the expansion of  has

its coefficient equal to that of the (r+ 4)th term, find

r

Watch Video Solution

(1 + x)20

197. The term without 
 in the expansion


is
a. 495 b. -495 c. -7920 d. 7920

Watch Video Solution

x

(2x − )
12

1

2x2

https://dl.doubtnut.com/l/_mkuaZts45waJ
https://dl.doubtnut.com/l/_K7Hq0OM1LQvU
https://dl.doubtnut.com/l/_9NaqZLNLHZKK


198. If rth term in the expansion of 
 is

without 
then 
is equal to
a. 7 b. 8 c. 9 d. 10

Watch Video Solution

(2x2 − )
121

x

x r

199. If in the expansion of 
 ,

the ratio of the coefficients of second and third

terms, and third and
 fourth terms respectively are

equal, then 
is
a. 3 b. 4 c. 5 d. 6

Watch Video Solution

(a + b)n and (a + b)n+3

n

https://dl.doubtnut.com/l/_9NaqZLNLHZKK
https://dl.doubtnut.com/l/_6vULCH3KAgt9
https://dl.doubtnut.com/l/_3mmS8mXR7AP0
https://dl.doubtnut.com/l/_SbwriN00labb


200. If  and  are the sums of odd and even terms

respectively in the expansion of  then 

Watch Video Solution

A B

(x + a)n

(x + a)2n − (x − a)2n =

201. The number of irrational terms in the expansion

of  is

Watch Video Solution

(4 + 7 )
451

5
1
10

202. The coefficient of  in the expansion of 

 is

x−17

(x4 − )
15

1

x3

https://dl.doubtnut.com/l/_SbwriN00labb
https://dl.doubtnut.com/l/_o7PQ8PiH6ce4
https://dl.doubtnut.com/l/_Y4OI5vchA6PA


Watch Video Solution

203. In the expansion of 
 the term

without 
is equal to
a. 
b. 
c. 
d. none of

these

Watch Video Solution

(x2 − )
91

3x

x
28

81

−8

243

28

243

204. If in the expansion of 
 the

coefficients of 
 terms are

equal, then the value of 
is
a. 5 b. 6 c. 4 d. 3

Watch Video Solution

(1 + x)15,

(2r + 3)thand (r − 1)th

r

https://dl.doubtnut.com/l/_Y4OI5vchA6PA
https://dl.doubtnut.com/l/_GX4keRdL4kDD
https://dl.doubtnut.com/l/_yyiseZ3k9zDX


205. The middle term of the expansion of


 is
 a. 251 b. 252 c. 250 d. none of

these

Watch Video Solution

( + )
10

2x2

3

3

2x2

206. If in the expansion of 

occurs in rth term, then
 a. 
 b. 
 c. 


d. 

Watch Video Solution

(x4 − )
15

,  x−171

x3

r = 10 r = 11

r = 12 r = 13

https://dl.doubtnut.com/l/_VXeTj5gYC0iJ
https://dl.doubtnut.com/l/_2g7UiVvNhR6g


207. In the expansion of 
 the term

independent of 
is
a. 
b. 
c. 
d. none of these

Watch Video Solution

(x − )
9

,
1

3x2

x T3 T4 T5

208. If the coefficients of 5th, 6th , and 7th terms in

the expansion of 
are in A.P., then 
a. 7

only b. 14
only c. 7 or 14 d. none of these

Watch Video Solution

(1 + x)
n

n =

https://dl.doubtnut.com/l/_TrJ6uFqrrOhI
https://dl.doubtnut.com/l/_AyoYJvAme9yr


209. Find the term independent o f x in the

expansion of the following expressions:

Watch Video Solution

( x + x− )
8

1
2

1
3

1
5

210. If A and B respectively denote the sum of the

odd terms and sum of the even terms in the

expansion of , then the value of ,

is equal to

Watch Video Solution

(x + y)
n (x2 − y2)

n

https://dl.doubtnut.com/l/_hBUyS3BKxPQf
https://dl.doubtnut.com/l/_H98xU0NNw6WF
https://dl.doubtnut.com/l/_uRmHHrdeNhsQ


211. If the coefficient of  in the expansion of

 is 270, then =

Watch Video Solution

x

(x2 + )
5

k

x
k

212. The coefficient of 
 in 
 is


b. 
c. 
d. none of these

Watch Video Solution

x4 (x/2 − 3/x2)
10 405

256
504

259

450

263

213. The number of terms in the expansion of

 after simplification

Watch Video Solution

(x + a)100 + (x − a)100

https://dl.doubtnut.com/l/_uRmHHrdeNhsQ
https://dl.doubtnut.com/l/_7QvH2fL2PhGb
https://dl.doubtnut.com/l/_SDFchVhAZaCL


214. If  in the expansion of  in

the expansion of  are equal, then n is

equal to

Watch Video Solution

T2

T3
(a + b)

n
and

T3

T4

(a + b)
n+3

215. The coefficient of 
 in the expansion of 


 is
 
 b. 


c. 
d. none of

these

Watch Video Solution

1/x

(1 + x)n(1 + 1/x)n
n !

(n − 1) !(n + 1) !
(2n) !

(n − 1) !(n + 1) !

(2n) !

(2n − 1) !(2n + 1) !

https://dl.doubtnut.com/l/_SDFchVhAZaCL
https://dl.doubtnut.com/l/_3wEtFzKLdkSY
https://dl.doubtnut.com/l/_0iBCG9VAsL3T


216. The sum of the binomial coefficients of

 is equal to  The constant term in

the expansion is: (A) 1120 (B) 2110 (C) 1210 (D) none

Watch Video Solution

[2x + ]
n1

x
256.

217. If the fifth term of the expansion


 does not contain . Then 
 is

equal to a. 
b. 
c. 
d. none of these

Watch Video Solution

(a2 / 3 + a−1)
n

' a' n

2 5 10

https://dl.doubtnut.com/l/_kIi1hNmyMVln
https://dl.doubtnut.com/l/_IGn3VbkMC4HJ


218. The coefficient of 
 in the expansion of 


is
a. 
b. 
c. 
d.

Watch Video Solution

x−3

(x − )
11m

x
−924m7 −792m5 −792m6

−330m7

219. The coefficient of the term independent of 
 in

the expansion of 
 is
 a. 
 b. 


c. 
d. 

Watch Video Solution

x

(ax + )
14

b

x
14!a7b7

a7b7
14!

7!
a7b7

14!

(7!)
2

a7b7
14!

(7!)
3

https://dl.doubtnut.com/l/_epTVu2mXsOHA
https://dl.doubtnut.com/l/_CKqRfzGsDCzo


220. The coefficient 
 in the expansion of 


 is
 a. 
 b. 


c. 
d. +

Watch Video Solution

x5

(1 + x)21 + (1 + x)22 + + (1 + x)30 51C5

9C5
31C6−

21C6
30C5

20C5

221. The coefficient of 
 in the expansion of 


is
a. 
b. 
c. 
d. none of these

Watch Video Solution

x8y10

(x + y)18  18C8  18P10 218

222. If the coefficients of the 
term and the 


 term in the expansion of 
 are

(n + 1)th

(n + 3)th (1 + x)20

https://dl.doubtnut.com/l/_hJz4xHphQdP7
https://dl.doubtnut.com/l/_9c0vLCwLy1ML
https://dl.doubtnut.com/l/_VveH6hjqlqFz


equal , then the value of 
is
a. 
b. 
c. 
d. none of

these

Watch Video Solution

n 10 8 9

223. If the coefficients of 2nd, 3rd and 4th
 terms in

the expansion of 
are in A.P, then 

is
a. 
b. 
c. 
d. none of these

Watch Video Solution

(1 + x)n , n ∈ N n

7 14 2

224. The middle term in the expansion of


 is
 a. 
 b. 
 c. ( − )
2n

2x

3

3

2x2
 2nCn ( − 1)n 2nCn  x

−n

https://dl.doubtnut.com/l/_VveH6hjqlqFz
https://dl.doubtnut.com/l/_GwTbpNLg5aVL
https://dl.doubtnut.com/l/_SkBHYyYuhnO6



d. none of these

Watch Video Solution

 2nCnx
−n

225. If  term is the middle term in the expansion

of , then  term is

Watch Video Solution

rth

(x2 − )
20

1

2x
(r + 3)th

226. The number of terms with integral coefficients

in the expansion of  is (A)  (B) 

(C)  (D) 

Watch Video Solution

(17 + 35 )
6001

3
1
2 100 50

150 101

https://dl.doubtnut.com/l/_SkBHYyYuhnO6
https://dl.doubtnut.com/l/_78ZosVp3wexV
https://dl.doubtnut.com/l/_4S7gWfPNpxu0


227. Constant term in the expansion of 

is
a. 
b. 
c. 
d. 

Watch Video Solution

(x − )
101

x

152 −152 −252 252

228. If the coefficients of 
 in the expansion

of 
 are the same, then the value of 
 is
 a. 


b. 
c. 
d. 

Watch Video Solution

x2and x3

(3 + ax)9 a

−
7

9
−

9

7

7

9

9

7

https://dl.doubtnut.com/l/_4S7gWfPNpxu0
https://dl.doubtnut.com/l/_KnPIuZnQw4tJ
https://dl.doubtnut.com/l/_LBj20lqPg7gU

